
JustinW
Rectangle

JustinW
Typewritten Text
20190411











JustinW
Typewritten Text
(24)    1pc

JustinW
Typewritten Text

JustinW
Rectangle

JustinW
Typewritten Text
1

JustinW
Rectangle

JustinW
Typewritten Text
3

JustinW
Rectangle

JustinW
Typewritten Text
24





JustinW
Typewritten Text
Align panels (#16,17) to panel (#15), then secure by using screws (#D).

JustinW
Typewritten Text
Attach handles (#G) to panel (#19), then secure by using bolts and washers (#H).

JustinW
Typewritten Text

JustinW
Typewritten Text

JustinW
Rectangle

JustinW
Line

JustinW
Rectangle

JustinW
Typewritten Text
Attach cam bolts (#E) to the panel (#19), then slide bottom panel (#18) through the thin lined gaps of panels (#15,16,17). Secure panel (#19) to rest of drawer by using cam locks (#F).

JustinW
Typewritten Text

JustinW
Rectangle

JustinW
Line

JustinW
Typewritten Text
Align and attach panels (#14) to panels (#13).

JustinW
Typewritten Text

JustinW
Rectangle



JustinW
Typewritten Text
Attach cam bolts (#A) to panels (#11), then secure panels (#12) to panels (#11) by using cam locks (#B).

JustinW
Rectangle

JustinW
Typewritten Text
Align wine glass holders (#I) to the holes of panel (#8), then secure by using screws (#J).

JustinW
Rectangle

JustinW
Typewritten Text
Attach cam bolts (#A) and dowels (#C) to the holes of panels (#2,6). Align panel (#4) to panels (#2,6). Secure by using cam locks (#B).

JustinW
Rectangle

JustinW
Rectangle

JustinW
Typewritten Text
24



JustinW
Typewritten Text

JustinW
Typewritten Text
Attach cam bolts (#A) and dowels (#C) onto panels (#3,7). Align panel (#10) to panels (#3,7), then secure by using cam bolts (#B).

JustinW
Rectangle

JustinW
Typewritten Text
Attach cam bolts (#A) onto panel (#8), then attach dowels (#C) onto panels (#8,5). Align panels (#8,5) to panels (#6,2,3,7). Secure panel (#8) by using cam bolts (#B). Secure panel (#5) by using screws (#L).

JustinW
Rectangle



JustinW
Typewritten Text
Insert shelf pins (#K) to the holes of panels (#2,3).

JustinW
Rectangle

JustinW
Line

JustinW
Typewritten Text
Attach dowels (#C) to the holes of panel (#5), then align and attach base to panel (#5). Secure by using screws (#L).

JustinW
Rectangle

JustinW
Line

JustinW
Typewritten Text
Insert and slide the wine shelves (#13,14) to the cabinet.

JustinW
Rectangle



JustinW
Typewritten Text
Align stopper (#22) to the wine shelves, then secure by using screws (#M).

JustinW
Typewritten Text

JustinW
Rectangle

JustinW
Typewritten Text
Align back panels (#21) to the back unfinished side of the cabinet, then secure by using nails (#U).

JustinW
Rectangle



JustinW
Typewritten Text
Place shelves (#1) to the shelf pins of the cabinet.

JustinW
Typewritten Text

JustinW
Rectangle

JustinW
Typewritten Text
Align glass (#23) to the door (#20), then align glass holders (#R) to the door and glass (#20,23). Secure glass holders by using screws (#S).

JustinW
Rectangle



JustinW
Typewritten Text
Insert sliding door (#20) to the cabinet, then push sliding door lock up.

JustinW
Rectangle

JustinW
Typewritten Text
Align magnet (#Q) to the top panel (#8), then secure by using screws (#O).

JustinW
Rectangle

JustinW
Line

JustinW
Typewritten Text
Insert door pins (#N) to the holes of the door panel (#9).

JustinW
Rectangle

JustinW
Line

JustinW
Typewritten Text
Align metal plate (#Q) to the upper corner holes of the door panel (#9), then secure by using screws (#P).

JustinW
Rectangle

JustinW
Line

JustinW
Typewritten Text
Align handle (#G) to the holes of the door panel (#9), then secure by using bolts and washers (#H).

JustinW
Rectangle

JustinW
Line


	14990拆装图 Model (1)
	14990拆装图 Model (1)
	14990拆装图 Model (1)
	14990拆装图 Model (1)
	14990拆装图 Model (1)
	14990拆装图 Model (1)
	14990拆装图 Model (1)
	14990拆装图 Model (1)
	14990拆装图 Model (1)
	14990拆装图 Model (1)
	14990拆装图 Model (1)
	14990拆装图 Model (1)
	14990拆装图 Model (1)
	14990拆装图 Model (1)



